








M 

M 

Site  1 

Site  2 

γ = 5 sucesses 
Rel = 5/8 
= 0.625 
 

γ = 6 sucesses 
Rel = 6/8 
= 0.75 
 

M 

M 

Site  1 

Site  2 

Runtime 

γ = 3 successes 
λ 2 Failures 
Rel = 3/12 
= 0.25 

γ = 8 successes 
λ 4 Failures 
Rel = 8/12 
= 0.667 

 
Successful execution                   Failed execution 
 



M 

M 

IST IET / IST IET / IST 

Site  1 

Site  2 

1st  Runtime 
interval 

2nd  Runtime 
interval 

Rel = λ/ time interval 
λ = 2 
= 0.01 

λ = 4 
Rel = 4/200 
= 0.02 

Successful execution                   Failed execution 
 



Successful execution 

 

Tardy and aborted execution 

 
 
 

Failed execution 
 

Site 1

Site 2

Site 3

λ = 1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

λ = 1 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

λ = 1 

Delay Delay 

1st Runtime 
interval 

2nd Runtime 
interval IST IET/IST IET/IST 

M1 

 
 
 
 
 
 
 

M2 

 
 
 
 
 
 
 
 

M3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

M1 
 
 
 
 
 
 
 
 

M2 

 
 
 
 
 
 
 
 

M3 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

M1 






	644-652_Page_1
	644-652_Page_2
	644-652_Page_3
	644-652_Page_4
	644-652_Page_5
	644-652_Page_6
	644-652_Page_7
	644-652_Page_8
	644-652_Page_9

